the pattefn

@ Muluptecm @a et

® ®
S fo.o T

@

the sequence?
2,1,

~4,-7. ",

Wh&t 1s the next number in

i
B

i

ARy
TR

- Name all points that are collmear to pomts N
cand Z. .

@ Multiple Choige
repres_ent?

& segment BC.

@. point B
"® rayCB

%t does the symbol BC

B line BC
C® ray BC

WiN =

NO, and .ﬁP = PO

. N

;_,
M

20

K

M the length of O0.

F

Multtple Ckoiee Whmh angle appears to be
a nght angIe‘? - |

8)

@ acute angle

Mulnple Choi@e An angle measunng 35°77
would be a@my 7 .. :

_ ® obtuse angle :
@f‘;_nght angle . @ straight angle

® ad;accnt aagte,, -




. Eﬁé &e rrudpornt of a seg- '
ment with endpmnﬁ Al3, —2) and 3(3 n.

- X+ Xr o Yit Vo
Mldpomt > ~

e T T T

Mulupﬁem What is the biconditional . |
. form of the stasezient “If a whitetail deer has |
antlers, then it is-a male deer‘?” ‘

@& A whitefail deer has no antlers if and
only if it is not 4 male deer. f
A whitetail deer has antlers if and only if |
it is a male deer. ' _
If a whitetail deer has no antlers then it
is not a male deer. :

Ifa Whltetaﬂ deer i is male, then 11 has
antlers

None&ﬁemee o

@% 7@1-'-@ ®

@’ o E}@ﬁ{@%evalueofr. _.

o

@ Multzple Chaic‘a ﬁolve Sx = - 10 then

choose the property that apphes to the '.
reqmred step. o

@ Substitution property .
@ Addition property R
@ Division property =~
@ Distributive property
- & Reﬂe}eive'_mperry

@ Multiple Choiee. Find the crrcumferenee of }1

the circle, (Use 7 = 3 14) i

|

Circumference = 2TTd
'Where d= d‘ia‘meter

Mulnple Chowe What is the inverse & of
“If water is ice, then the water’s temperature E
is 32°F?”

If water $ temperature is 32°F then itis ‘al

'@

not 32°F.
water is not ice.

is 32°F.-
None of the above

8 @ e '@,‘

= < W WKYZ, WZ XY

.m What is the value of x7
W - X.
7 - 14 A+ 2
Z Y

ice. : .
If water is not ice, then its temperature 1s i

" If water’s temperature is not 32°F, then -

" ‘Water is ige if and only if its temperature

O

- WO angres Z1and 42 are -
complementary K ms1 is27°, whatis ms27

e



lAMI—GeometrL Day 2

What is the mé.l‘?'

@ Given APQR = A _ s

- congruent to PR? -

 Which of the followiig terms can bé used to.
- describe a triangle m angle measures are

l
30°, 120°, and 30°7 - |
@ acute ‘ @ obtuse . l\
@ isosceles nght

® equiangular S : l

“Which angles ate vertical angles?

Tn the diagram, ¥ is fhe perpendicular bisec- -

tor of AD. What are the values of x and y?

@ Zland L2 @ Zland £5
@ Z3ads5 - @ LladZ4
® shamdss . L
@ What is the | g
“ . measure of LB‘?
AL c

Choose the statement that is true about a the o

B

) Only one pa1r of opposxte angles are .
—..congruent :

,.rpos1te s1des are congruent

Dxagonals bisect each other.

e 8 f. e

@ o
B |
o/

-Dlagonals are. congruent
No_ne of these are true.

W
@ What spec1a1 type of quadrilateral has the \_
- ' and I(l —-5)?

® rectangle @® . square -
© parallelogram (@ rhombus _

®k1te

vertices F(—6, —2), G(1, ~2), H(~6,-5), |

@ What is the value of x‘?

3x+5




@ . : __AW]nch figure b belaw isa
= 126°, the n7 ' B
leir:z_{_? ‘ 126 ,thﬁn .‘@ polygon
mL2=__1 g f O
_ B Ionly @® U only
© M only @ TandID - \
B J @®. none of&wss
Opposms an%ﬁ%g%@- I
_ ‘1 l7 lelogram mﬁt% _ S
. . N ] . i
@ . Which theorem or . £t ® complemmtazy CB) supplcmeﬂt?IY '
| postulate shaws jf| k7 - /7/ g @ congruent @ AandC \
@® élt.int’.é . N ,/ ‘ ® BamdC o S
. onverse / ) — —
® Cons.Int. & - cl _ ;’/ .. In trapezoid- ELM‘N ﬁ
Converse - : i % . and NM aze 7 |
© Al EBxt. & Eonverse-_ o ;f/ = ;‘ @ legs . - s |
g : ;01'1'35% & Cﬁnverse /,-/’ ® E)‘;slsgs_l
- 011? @ftﬁase. ‘ @ consecutive angles
- @ diagonals - ' i.
L3 i
- @® none of these 1

‘ - Find Ehe slope of the Ime j
gh (5, Yand (,~1). |

- An octagon has kﬁw muy ! ,
" sides? B

e
<§

' Solve x + 12 = 24, then : l
choose the property that applies to the "
required step.

(@ Substitution property of eqtfélity.
Division property of equality.
@ Subtraction property of equality.
(@ Distributive prop‘erty of equality.

. @& Reflexive property of equahty

:._“ a5

@

¢
L i S
“WH

_r__p‘u..w-m.m.__

A polygcm wﬁh 7 s.1des is

called a_ T :

@ - dodecagon A

® ‘nonagon
@© heptagon @ hexagon |
® . decagon _ , k

In the d:iagram Z4and 25

C) “are what type of angles?

_Re _
N\

‘ ~“corresponding angles

alternate interior angles
alternate exterior angles
consecutive interior angles -

®
®
©
)
®

consecutive exterior angles



AMI—Geometry: Day 3

A baseball “diamond” is a square with side lengths'bf 90 feet.

a. Copy the diagram and label each side of the square with the correct measurements '
along each base path. ' 3" 4

b. What is the measurement of each angle formed at the 3 bases and home plate?

¢. Using the Pythagorean Theorem, how far is a throw fmmthlrd base to first base?
Rmmd to the hundredths.

Pythagorean Theorem
a + b =c

Show all work or explam even if you use mental math or a calculator




| = 126°; L 10t p be “it i let g be “it is thunder-
@m ¥ ms3 = 126° then | B # e “it is raining,” let g be “it is thunder
?nlfgp—fe " 1 20N mg,” and let rf&e “we cannot swim

_..._..-.—‘- .

n,

" What is g - p?
@ Ifit is raining, then it is thundemng
@ Ifit is raining, then we cannot swim.
@© Ifitis thundering, then it is raining. :
@ Ifit is thundering, then we cannet swim. }

e —1 ' - @® it is not raining, then it is not f’.
@ Multiple Choioe Whtatis themz1? | tnderng. L

ainis, 4, B, arid C.

omt D Qn m&%tween pomts 4amdB.

\ Draw segment CD. Dra:ﬁﬁ% €4 and ray CB

'ﬁwepomtsA B, andD coltiie _ .?AxepomtsB C, andD collinear?

Are CA and CB opp051te rays‘7 AIe DA and DB opposite rays‘?'




AMI—Geometry: Day 4

6. Find the value of x.

8. Find the‘measure of Z4 below.

>

9. Find the measures of éngles A4, B,and C. |

e e et RS e e e 4+




10. Which two figures shown below appear to be congruent?

A. B.

<><>

[A]l BandD [B] Band C [Cl AandD [D]AqndB'

11. If ARPQ = AJKL ,then LJ = :

12. The two triangle-shaped gardens are congruent. Find the missing side lengths and angle
measures. '

13. If AABC = ADEF, AB= 24 feet, mAB 43° and mAF 31°, which of the following
statements is false?

[A] 2D = 24 [B] mz4 = 106> [C] FD = 24 # (D] ED = 4B

14. T AABC = APQR and APOR = ALMK, then AABC = ALMK . This illusirates which
property of congruence? ' ‘ o
[A] Transitive [B] Symmetric " [C] Commutative . [D] Reflexive

SRSERF RIS S



AMI—Geometry: Day 5

Complete the crossword puzzle.

points of the line to one
side of it.

9, An angle whose measure
is greater than 90.

10. Two ¢ndpoints and all-
points between them.

16. A flat figure with no
thickness that extends
indefinitely in all
directions.

17. Segments of equal length
are segments

8. Two noncollinear rays
- with a common endpoint.
19, ¥mzZA+m £B= 180,
then £ A and AB are
angles

R

:‘-"

10,

11.
12
1:3

18..

1 Iz
oloL UL pnied0ie il
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of [o} {¢] |r " | e
o el [ . |
\. o o 1t
Qv Tl e Al
o 1 ol
a8 Oinig |1 te ,
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" ACROSS DOWN
3. Points on the same line 1. The set of all points collinear to two pomts
are isa
4. A point on & line and all 9. The point where the x- and y-axis meet. -

An angle whose measure ig less than'90.

. Ifm£A+mLBz90,thenLAanaABare

angles.

Lines that meet at 2 90° angle are

Two angles with a commeon side but no
comrmon interior points are

An “angle” formed by opposite rays isa
angle. '

The rniddle point of a line segment. :

Pomts that lie in the same plane are
The four parts of a coordinate plane.

4, Two nonadjacent angles formed by two
intersecting lines are angles.

In angle ABC, point B is the

g i



